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Ãøø²ø
ÈøÍ ·øÉøŃ øøø øãøøøಂÁø £øãø ಒಂø øÊøÁø øÐħÍ

µøā ÃøÑÆøø.øã¼øãø¿Ōøã ¢Îø ¢øã° øĔŖ øÐÉ²Í °øø ²ÈÃ
øøøøŌø. £øøಂÁ ¢ÎÍøŐ øøı øøø øãøøøಂÁø, ¢ÁÊøŃø øã
ø¿Ł øãøøøಂÁø ¢øಂø ø¼ĳ ÃÐıøã Ñø.
6:30Ê ²ಂøøøøø. øøŖ øŁÊಂÇøøøÁøħ ¤øŐ ¤ÄőøŌ øøÐøÁø

¤ø. ¤Îø øø ¤øŐ ÆÊøø? øøøĩ 10 ²ಂøãø ªøı øøŁøø øãøøø.
¤øãø øãø øøÁø?
øãÆøŃ ¿¼øø ¢Âāøøø ø²øãøಂÁøŐ øøø øøøøı. ¤øŐãø ø²øãø

øøŌøøÍńøãø. øø øøŇÁøŃ ¤øÁø. ø! Èø ¢ø. ¥ øøø ªøı
øŖøāøøø! Èø ø¼ ¤øı øŖøāøÊøãø ¢ಂ¿ øøãøŇ øøøø
øŅÀāÁ ÄÊøÎø. ªøŃ øøŏÎಂøø ¤ø¿Ōø ¢øŃ øÄ ¤øøøøÎಂø.
¢ಂÁø Èø øøŏÎಂ¿ø ªಂ¿ø? ¢ÎÍøŐ Áøĳ ¢ಂ¿ øø øø øãÍÆøø?
Áøĳ ¢øø ¤øø øãø ÃÃŐøŐ øøøŌ ¤øø?
øøಂø²ø ÑøÁಂøø ¤Îøøø øøøø? øøøø? ªøø, 6:50øħ

øಂºøÃøŃ øøøøಂø, ಒÍø øãøø²ø ÈÃøň ø°øø¿Ōø. ಒÍ²ø
øøø²ø ÈÃøň ø¾āøø ø¿ŁÁ øãø øãಂøŁã°Ú¿øøøøã ¤ø.
¤ಂºøøøøãøÊø Æಂøøøã¾ø ªøø¿Ōø. £Áø ಒÆŔ Á¼ĳ øøøøø
ಒಂø ಒøńÉ ø¿Ł ¿øőøøøńøø ÑøÉø ªಂø øÂāøøøŌãø. ùÄŁøÁŅಂøŅú
øãÃ ¢¿ŀಂ¿ øŁãÐĲ ø¿Ł²ÍøŃ ಒಂÁøøøø, øãøÉÎÊ ø¿Ł²øø øãøøÁø
¦¿ŌÈ ªಂø Ä°ħÁÎø ø¿øøøøńøø øøø øøŎ øãÉ øÎ
ø¿ŁÎøŐ øã¼øøÎøø ¤øã øŁãÐĲ ªಂø øøøøø øŁãÐĲøã ¢øøã? ಒಂø
ÈÃøňø Ò¿ŌÁಂø øøÁ Èø Æøĩ øãÄøøńøŌø. øøŖÃ øøÉøŃ
øøøøಂÁ ªøŎ ÆøøŌãø.
¢øøãøŇ¿øø øãøÃ øÊø ¢ÎÍ ø± °ಂø², ø ¤øŃ ªಂø ÑøŐ

øøøŌãø. ù¤øãø øøಂø øãø øãøŌãø?ú ªಂø Îŀಂ²ŀ øø¿ ÁøÉøŃ
øãøøŌãø. ¢Îø ù¤øú ªಂø øãøø² ¢Îøø øøøã ø¡±
øøøŌøøø øÑøø¿Ōø. øøÊÃ øøıø ¢ಂ²øÉøŃ ø²øãø
øಂøøøńøŌ ¢ÁøŐã øãµø øøøŌãø. øÁÌøã øøø, ¢Îø ¿ÃŐ
¢ಂ²øÉ øãø ÆøøøÎ ùªøÊøŐ øŁãøøú ªøŐøø øÒ°Á øøÃಂø
°ಂøÆø¿Ōø. øŀøøಂÁ ಒಂø ø²øãø øøø, øಂøøøı, ÈøÍ °ø
øøøø², ¢ÎÍ ø±ÁøŃ øøøø ªøŐøø ÑőÐıøø¿Ōø.
ùøÈø øಂÁø øøıú Èø ÃÃŐ ÏøāÃ øãø øøøø «øã øÍøŐ

øøøøŌ øãøøŌø.
ùøಂÁø ø¼øãø ¢øŐãøã ¦øŎãÏ £øø øãø, ¤øŀø ¤øø?ú ø¢ÎÍ

øäÉøŐ øøø øÊ øøøŌãø. Èø øãÄøøńøøø. °ಂø ø¾Áಂø
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